
PROTECTOR DE MOTOR PARA YAMAHA XJ6 / DIVERSION  ‘09 -          
CRASH PADS FOR YAMAHA XJ6 / DIVERSION  ‘09 - 
STURZPAD FÜR YAMAHA XJ6 / DIVERSION  ‘09 -          

Ref.: 5297N

INSTRUCCIONES DE MONTAJE  
Desmontar las tapas laterales(C) de ambos lados.
Desmontar los tornillos de sujeción del chasis al motor en el punto marcado en la fotografía (y lado contrario). Montar los protectores 
en el lado correspondiente según el croquis adjunto. Una vez apretado colocar las tapas.
Todos los tornillos reemplazados deben ser apretados según el par de apriete especifi cado en el manual de la motocicleta. si no se dispone de 
dicho dato puede usar un par de apriete de 54Nm para los tornillos M10.
Antes de montar las tapas laterales deben sustituirse los casquillos y los tornillos de las posiciones “A” y “B”  por  los suministrados (12 y 13) tal 
y como muestra el croquis.
Se recomienda el empleo de un fi jador medio (ej. Loctite) para asegurar la tornilleria.
Revisar el apriete de toda la tornilleria después de los primeros 50 km.

INSTRUCTIONS TO ASSEMBLE
Remove the side panels (C) of each side.
Remove the fasteners that subject the chassis to the engine, on the point marked below (and the opposite side). Mount the protectors on 
each own side as the fi gure below shows. Tight the set, and place the caps.
All the screws replaced, should be tightened to the torque specifi ed in the oem maintenance manual for your motorcycle. if no torque specifi ca-
tions are provided in the oem maintenance manual, may be used 54Nm for all M10 screws.
Before mounting the side panels, the cylinders and fasteners on position A and B must be changed for the supplied 12 and 13 as the fi gure 
below shows.
Medium strength liquid thread-locker (i.e., “Loctite”) should be used to secure all screws, bolts and nuts. 
All screws, bolts and nuts should be checked after driving the fi rst 50 km to ensure that all are tightened to the proper torque. 

MONTAGEANLEITUNG
Entfernen Sie die Seitendeckel (C) von jeder Seite.
Entfernen Sie die Befestigungsteile, die den Rahmen / das Chassis am Motor fi xieren, an dem rechts in der Abbildung markierten Punkt 
8 (und der gegenüberliegenden Seite). Montieren Sie nun die Protektoren an jeder Seite wie in der Abbildung gezeigt. Befestigen Sie 
das Set und platzieren Sie die Kappen.
Vor der Montage der Seitenwände, müssen die Zylinder und Befestigungen auf Position A und B mit den mitgelieferten 12 und 13 
ausgetauscht werden, wie die nebenstehende Abbildung zeigt.
Alle vom Motorrad gelösten Schrauben sind gemäß Drehmomentangaben des Herstellers (siehe Fahrerhandbuch / Bordbuch) wieder 
zu montieren, oder mit von MOTOPLASTIC S.A. gelieferten Schrauben zu ersetzen. Wenn keine Drehmoment-Spezifi kationen in der 
Hersteller-Wartungsanleitung vorgegeben sind, ziehen Sie alle M10 Schrauben mit 54Nm an. Gegebenenfalls sollte eine fl üssige Schrau-
bensicherung (z.B. mittelfest “Loctite”) verwendet werden, um alle Schrauben, Bolzen und Muttern sichern. 
Alle Schrauben, Bolzen und Muttern müssen nach den ersten 50 Kilometern auf festen Sitz überprüft und ggf. nachgezogen werden!

C
re

at
ed

 b
y:

 w
w

w
.c

ia
nd

iss
en

y.
co

m

    
Juego de tapas 
Tornillo M10/150x50  DIN912
Tornillo M10/150x90  DIN912
Arandela Ø20ext.Ø10int x2 DIN125/A
Protector Nylon
Casquillo aluminio l/derecho
Casquillo aluminio l/izquierdo
Desplazador l/derecho
Desplazador l/izquierdo
Tornillo M10/125x40  DIN912
Tuerca M10 DIN985
Casquillo aluminio 
Tornillo M6x25 DIN1001 c/negro

DESCRIPCIÓN DESCRIPTION
1
2
3
4
5
6
7
8
9
10
11
12
13

ID. QTY.
Caps set
M10/150x50 screw
M10/150x90 screw
Ø20ext.Ø10int x2 washer
Nylon protector
Aluminium metal arrowhead right hand side
Aluminium metal arrowhead left hand side
Right offset
Left offset
M10/125x40 screw
Nut M10 DIN985
Aluminium metal arrowhead
M6x25 DIN1001

2
1
1
2
2
1
1
1
1
2
1
4
4

INSTRUCCIONES DE MONTAJE  -  MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG 
 

MOTOPLASTIC, S.A.  
Molí de la sal, 1  -  08403 Granollers (Barcelona) SPAIN  
Tel. 34 93 849 06 33  -  Fax 34 93 849 09 88
info@puig.tv   
www.puig.tv

1

PARA EL MONTAJE DE LOS PROTECTORES, SI USTED NO ES UN MECÁNICO, POR FAVOR CONTACTE CON UN TALLER ESPECIALIZADO.
MOTOPLASTIC DECLINA TODA RESPONSABILIDAD POR LOS DAÑOS CAUSADOS POR UN INCORRECTO MONTAJE DEL PRODUCTO.
EL MONTAJE DE LOS PROTECTORES DE MOTOR NO GARANTIZAN UNA PROTECCIÓN INTEGRAL EN CASO DE CAÍDAS. 
MOTOPLASTIC-PUIG DECLINA TODA RESPONSABILIDAD EN CASO DE DETERIODO DE LA MOTOCICLETA.
FOR TO ASSEMBLE THE CRASH PADS, IF YOU ARE NOT A TRAINED MECHANIC, PLEASE CONTACT A SPECIALIST.
MOTOPLASTIC, S.A. TAKES NO RESPONSIBILITY FOR DAMAGES CAUSED BY IMPROPER INSTALLATION.
THE USE OF CRASH PADS DO NOT GUARANTEE A FULL PROTECTION IN CASE OF ACCIDENT. 
MOTOPLASTIC-PUIG DECLINE ANY RESPONSIBILITY IN CASE OF MOTORCYCLE DAMAGE.
WENN SIE SICH BEI DER MONTAGE DER CRASH-PADS UNSICHER WERDEN, SIE KEIN AUSGEBILDETER MECHANIKER SIND UND ES ZU 
PROBLEMEN KOMMT, SUCHEN SIE BITTE EINE FACHWERKSTATT ZUR MONTAGE DES STURZPAD-KITS AUF. MOTOPLASTIC S.A. ÜBERNI-
MMT KEINE VERANTWORTUNG FÜR SCHÄDEN, DIE DURCH UNSACHGEMÄSSE MONTAGE VERURSACHT WERDEN. 
HINWEIS: DIE BENUTZUNG VON CRASH-PADS GARANTIERT KEINEN VOLLSTÄNDIGEN SCHUTZ BEI EVENTUELLEN UNFÄLLEN.

2 5 6
8

4

LADO IZQUIERDO
LEFT SIDE

LINKE SEITE

LADO DERECHO
RIGHT SIDE

RECHTE SEITE

3
4

1
7 5

11
10

9

10

Tornillo original 
Original screw
Original schraube

B

A

C

Tornillo original 
Original screw

Original schraube

12

13



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


